GATITU SECONDARY SCHOOL P.0 BOX 327- 01030 GATUNDU.
Form4 2014

END OF TERM 1 MATHEMATICS PP 2

TIME 2 % HRS

MO OGS

NAME ADM
INSTRUCTION:
1 Answer ali the qqestions in section A and ANY 5 in section B.
2 Show all your working below each question.
Section A__ {50 marks) ,
1 Use logarithims to evaluate J 1.23 x0.0468
2 .
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2 Sclve the following equation,  sin[2x-30]1= %  for 0®< X < 180° {3mks)
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3 Find the centre and the radius of the circle whose equationis X? -6X +Y2-10Y + 30 =0 (3mks)
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4 Simplify  12x’ = 16x | ' \ 41;(}744-7)

20 - 11x-3x* {3mks)
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5 Simplify ¥3-v2 B
V3 +V2 - - . (3mks)
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6 Use matrix method to solve simu!@aneousl,y - 2x=-3y=5
4x-6y=7
Give a geometrical interpretation of your result (4mks)
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7 Three types of spirits X ,Y and Z are mixed in the ratio 5: 2 :3 respectively.The cost per litre of spirits X
,Yand Z are SH 105, SH 80 and SH 60 . If the mixture is sold at a profit of 25%, find the selling price of

the mixture per litre. 525, 3 ‘bo *1KD — S\fw%’b‘("”“ mks)
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8 Solve for x [log 27 X}*— 2/3[logy7 X] = 1/3 {4mks)
Lek Logx - . hog7e=  log =
L__. 7— - - O -V -
* + 355" 27 7= % 27 = 2%
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9 In the figure below%M B is a chord of the circle centre O passing through A,Q and B.OM is a
perpendicular bisector of AB. AB is 12 cm and QM is 1cm. Calculate the area of the shaded region.
o ,
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10 Find <1{:}he first 7ﬁve terms of the expansion  [2 — 1/x]%. (3mks)
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(b) Hence evaluate [1.75)° , - [,L (3mks)
7_5]9_\'07'% x—\"lc)’b_,tgﬂ-_“n‘,o _ ,
q > xv =3 SC* 5 %#6 ' %&9
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11 S varies partly as v and partly as V2. ifS=31whenv
when v =25. c. -0783>
5 = \(\{‘;-{-‘r( -
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5% = Qoo Y 300)>
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1% V2o
wbo-3b+gUl. 79 3924

=20 and S = 58 when v = 30, find the value of S
(3mks)
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ij 12 A sewing machine valued at sh 25,000 can be bought by cash at a discount of 10% or by instalments
whereby a deposit of sh 3,000 is paid fotlowed by 15 monthly instalments of sh 1,500each. Find:

!
(a) The cash price of the machine. ' ' {(3mks)
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\
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\
(b} The hire purchase price of the machine.

N = YR

(3mks)
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13 Find the distance between the points 3j+kand 2i +j+k (3mks)
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SECTION B 5C MRKS (ANSWER ANY 5 questions)
work jane has to pass through three sets of traffic lights. The probability tha

t she will

n driving to
have to stop at any of the lights is 3/5.

D di t zh b f 2mk
(a) Draw a tree diagram orep;esen Za’ove in or+1 og S {2mks)
: S S s
S s - 5% 5

% s S 55 5
_ ’ ¢~ 5"55

S - [4 S .f)ﬁ

7 54}, {55 Pt

5 s”s™

{b) Using the diagram determine the probability that onany one journv__fhe will have to stop at;

---All the three sets. (2mks)
p(s5s)
S5 s D2.S'
(2mks)

--Only one of the sets
VLs&S)o«—V(SS 5) f(s ss)
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----Only two of the sets .

0 L'> s’s') o

\7—5’

---None of the sefs.

V(ssS)

22 |- 2
55'5 12-$"

—

(5"5 5’) > Pgss
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(2mks)

{2mks)

1jm the ﬂgure below E is the mxdpomt of AB OD DB =2 : 3 and F is the point of intersection of OE and

AD.

b)) 3
pa
g
{a) GiventhatOA=a _and OB=b, express OF and ADin terms of a and b.
D€ — oA RE 30 = o yol
% - - 2 o
OL -—O\\’éﬂ Pyﬁ - Q-\»?
ot,fcn—‘/\!v"") D= 2 >-a
oC — /q+)/lg ‘ —

{b} Given that AF=TAD und OF = sOE find the values of sand t .v

0y = 9%0¢

05 = 5 (k)

Os--: ‘/2—Q$ +‘g35
’---’"'""’__—______,"—,.‘_-_.—‘-.----—-m-mﬁ

o5 = 0N Fr A%
0§ = ar EAD
D% = Q{"t’ %" Q)
pt=a rth— at
o5 = ali= 6t
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(c) Show that O, ,FandEare coliinear.
- | +Vsb
0F = yas ty
D% = Lax x4
yor L #5775
0f— 2
- Zq L

—_—

oE = ya+yhb

I&The table below shows the rates of taxation in a cértain year.

[ Income in kf p.a ‘Rate of taxation in SH per kE -
1----- ----—-3,900 2. -
3,901 ----mmmmmm e 7,800 3
7,801- emeeemme-11,700 4
11,701 15,6C0 5
15,601 -19,500 7
Above 19,50C 9

in that period Jane was earning a basic salary of ksh 21,000 per month. In addition she

house allowance of ksh 12,000 p.mand a personal relief of ksh 1,056 p.m

. {a) Calculate how much income tax Jane paid per month.

2\, 0070
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A
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3900 e = 1S, boV
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s
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{7mks)
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(b} Janes other deductions per month were
--co-operative society contribution 2,000
--Loan repayment 2,500

Calculate his net-salary per month - . (3mks)
- R ,

2700 - |
¢ jovo 0 49 ¢

Gerv L2z, 50b -
+ 5%y ’
\0, 4.9 ¢

‘?’The 1%, 5% and 6" terms of an A P are the first three terms of a G P. If the first term of the A .P is 328
find:

(a) The common difference of the A .P. (@"\"—& ‘DI:' aq LQ X J )Ol _ {(3mks)

a ,@rud) (a+sd) =
(Jrs*d) éﬂwp c |7 “QJA d™=
‘}-‘-\d - Od'S- - d(&QH‘J)” o

{b} The constant ratio of the G .P. " (2mks)

~1)

{c) The nth term of the G .P. ' _ (2mks)

a-\
Qv

(d) The sum of the first ten terms of the G .P. (3mks)
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wUsmg a ruler and a pair of compasses only construct triangle PQR in which PQ = 5 cm PR =4 cm and

NO of workers

angle PQR=30° (3mks)
) Measufe RQ: o h(lihk)
T 5¢
{b) <PRQ. — (1mk)
{c) Construct a circle centre O such that thé circle paéses_through vertices P, Qand R. {3mks)
{d) Calculate the area of the circle. | (2mks)
A
B — > uer b b
*+
272
- cv: 27 e
lQThe table helow shows the dlSt-i‘I-b—l;;;n of the wages m a week for 50 employees in a certain factory
- | Wage (Ksh) 800-«899 900---999 1,000—1,099 | 1,100—-1,199 |1, 200——1 299
3 10 25 9 3
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Using ks 104.5 per week as the assumed meén {A/age ,calculate

{a

——

The mean for the grouped ywages. (3mks)
Cleys | oo ¥ T o
800 - 8THQUGS| 2 2548 &
970 —99%q9ua¢| 10 [quas. 5c. — s>t
1622 - 199 e 25 2b23e-S 9_ T ZF
[woe —0F 1 445] 9 o 3biSS - s237S
J2pp — 1201445 B (3 748§ x* = ~Sso
— - sa'df&xzsz, 2 -
i o, =) 047
{b) The standard devjation of the wages. i (4mks)
071
{c) Eétim&te the median wage.

- AT
qq4-s + L+ = tou7 |
- H’)gl’ﬁf

Q94-C x Q—%?“W)

go—
—

PR e |

z.oqa)

\ 044, S

g

(3mks)

ZpTwo equal circies with centres O and Q and a radius 8 cm intersect at points A and B as shown below.

Given that the distance between O and Q is 12 cm and that line A B meets 0Q at X.
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Find: :
(a)The length of th ’LordAB. o ' g em {2mks)
- b = '/bl-"}é V|D’___§
18 = S-3cM
{6mks)

(c) The area of the shaded region

- 282, . guSr3 ik e
N bs 4a |20
C T Lhoabem | T |5
=k 4 b-2b 3447
coS =X ¢t K . L-b7
& Y B8 g2 ¥y ~ 3V T2 T/
cot =018 o ZF 22 1.
404 22 = e8] L@ 0-492% * 2
| = B\ | sSCM /C‘ o2
(d) The reflex angle AOB — (2mks)
3hp-82&2
277 \L’(;Mﬂf
—
11
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